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WORKBOOK:   Health Services Planning in a WCC Environment


Learning Module (Workshop)

Venue

Duration - Date

Health Services Planning in a
World Class Commissioning Environment:

Exercise 2 Demand, Capacity and Performance
Answers  
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	1
	Answers data sheet

	Hospital A
	Hospital B
	Guide

	Comments


	2
	Demand  on hospitals from community in 6 months
	
	
	
	'Number of admissions per time period' as an indicator of community demand is limited by hospital capacity if % occupancy >100%

	3
	Inpatient admissions in 6 months
	4,688
	12,351
	data given
	Actual admissions 

	4
	Hospital catchment population
	132,000
	309,000
	data given
	Catchment population = relative size of population using a hospital compared to other hospitals

	5
	Hospital Admissions in 6 months/1000 catchment popln
	35.5
	40.0
	
	= admissions (row 3) x 1000/catchment popln (row 4)

	6
	
	 
	 
	
	Row 5 is a measure of  relative demand on a hospital compared to other hospitals

	7
	Average length of stay in days
	7.0
	5.9
	data given
	Actual avg Lengths of Stay in these hospitals 

	8
	Hospital bed days demand in 6 months
	32,794
	72,637
	
	 = number of admissions in 6 months (row 3) x avg length of stay (row 7)

	9
	
	 
	 
	
	

	10
	Hospital capacity
	
	
	
	

	11
	 Beds available =
	230
	470
	data given
	Actual available beds in these hospitals

	12
	Beds/1000 catchment popln
	1.74
	1.52
	
	Capacity in relation to demand (row 11x1000/row 4)

	13
	Available bed days (in  6 months)
	41,975
	85,775
	
	 = number of beds x number of days in period (take 6 months = 182.5 days)

	14
	
	
	
	
	

	15
	% occupancy
	78.1
	84.7
	
	= (bed days demanded (row 8) x 100)/ bed days available (row 13). (Ignores bed use time lost between patients)

	16
	
	
	
	
	

	17
	Consultants
	25
	40
	data given
	

	18
	Total doctors
	70
	120
	data given
	

	19
	Nurses
	200
	300
	data given
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	20
	Consultants/ beds available
	0.11
	0.09
	
	

	21
	Consultants/1000 admissions
	5.3
	3.2
	
	

	22
	Consultants/1000 catchment popln
	0.19
	0.13
	
	

	23
	Total doctors/beds available
	0.30
	0.26
	
	

	24
	Total doctors/1000 admissions
	14.9
	9.7
	
	

	25
	Total doctors/1000 catchment popln
	0.53
	0.39
	
	

	26
	Nurses/ 1000 admissions
	42.7
	24.3
	
	

	27
	Total hospital budget for six months
	£15,592,600
	£30,124,700
	data given
	

	28
	budget/ beds available
	£67,794
	£64,095
	
	

	29
	budget/ admission
	£3,326
	£2,439
	
	

	30
	budget/ catchment popln
	£118
	£97
	
	

	31
	
	
	
	
	

	32
	Hospital performance
	
	
	
	

	33
	Throughput (patients/ bed) per 6 months
	20
	26
	
	= inpatient admissions per 6 months/number of beds available

	34
	Avg length of stay in days
	7.0
	5.9
	use data from row 7

	35
	% occupancy
	78.1
	84.7
	use data from row 15

	36
	'L' ratio
	2.1
	1.8
	data given
	Ratio:  Av LOS of patients aged => 65 / Av LOS of patients aged <65

	37
	Admissions/doctor
	67
	103
	
	

	38
	
	
	
	
	

	39
	Fair distribution of resources
	
	

	40
	Compare numbers of: consultant, docs, nurses, budget, etc, per admission and per catchment population.

	41
	Compare beds per 1000 catchment population for each hospital: perhaps a hospital is 'under bedded'

	42
	We need to know about quality/capacity in primary care in each hospital catchment area.

	43
	We need to know about 'need' - and relative deprivation would be nice.

	44
	Waiting times.
	
	
	
	

	45
	
	
	
	
	

	46
	Capacity in relation to demand
	
	
	
	

	47
	In general, hospital B has fewer resources per unit of demand than hospital A.
	e.g., beds per unit of catchment population
	e.g., doctors per admission
	
	

	48
	
	
	
	
	

	49
	Performance in relation to capacity
	‘Performance’ as measured here  
Is only ‘process’- the health gain is not measured.
	
	

	50
	Hospital B actually has a 'better' performance than hospital A in relation to capacity
	e.g., Hospital B has more discharges per available bed per unit of time
	
	

	51
	
	
	
	
	

	52
	Local knowledge: hospital B's geriatric beds were owned by a PCT so in these stats, patients were 'discharged' from hospital B and then 'admitted' to a different organisation. That is, the length of stay in the geriatric department was not included, whereas they were for hospital A.
	

	53
	
	
	
	
	

	54
	Additional information and analyses required
	

	55
	Measure severity 'casemix' of admissions (Use HRGs).
	Quality of outcomes.
	Quality of patient experience.

	56
	Analyse by HRG; specialty, emergency and elective separately, day cases separately.

	57
	Measure severity thresholds of admission and discharge; measure delayed discharge. Is supply feeding demand -low thresholds?

	58
	Measure trends in daily admissions and discharges. ('Winter capacity')

	59
	Compare hospital throughputs (discharges per bed) for each specialty: greater throughput = better.
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